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BCQ/M-20 12346
MANAGEMENT ACCOUNTING
BC-601
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
dy ikp i'uc d mlkj nife, A i'u B[k 1 viuok;
g A

Compulsory Question (\Vfuok; 1°u)

1. (a) Distinguish between Management Accounting and

Cost Accounting.
icl/ y[kdu rHk yixr y[kdu e wirj LI"V
dift, A

(b) What is Horizontal Analysis and Vertical Analysis ?
{ifrth; fo"y'k.k rHk meok/j (yEcor) fo'y't.k D;¥
g\

(c) Explain the nature and objective of fund flow

statement.
dit dolg fooj.k di iNfr rRk mi*; dk o.w
dift, A
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(d) Explain the meaning and importance of margin of
safety.
j{i dh Ihek d v rfik eglo dk o.u dift, A

(e) Discuss the essentials of Good Management

Information System. 5x4=20
J'B icl/ tudijh 0;0LFk d wio;d rlok dk o.u
dift, A

2. Define Management Accounting. Discuss the functions

and tools and techniques of management accounting. 15

icl/ y[kdu dn ifjH' nift, A icl/ y[ikdu d dk;k
vij midj.k ,o0 rdutfd;k dk o.lu dift, A

3. What is Comparative Analysis of Financial Statements ?
Explain its advantage, limitations and types of comparative

statements. 15

folih; fooj.kk di ryuRed fo'y'.k D;k g \ bld
yiH] Dhekvk rRk ryuiked fooj.k d idikjk db 0;k[;k
dift, A

4. Equity share capital (30000x100) Rs. 30,00,000
9% Preference Share Capital Rs. 10,00,000
Market Price of Equity Share Rs. 200
Rate of Dividend on Equity Share 20%
Profit after Tax (Tax @ 25%) 8,00,000
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Calculate from the above information :
(i)  Earning per Equity Share

(i) Capitalisation Ratio

(ii1) Price Earning Ratio

(iv) Payout Ratio

(v) Dividend yield on equity share

(vi) Retained Earning Ratio.

(vii) Dividend payment ratio. 15
lert Vv 1th (30000x100) 30,00,000 #-
9% vf/elu vl it 10,00,000 #-
lert vk dk cltlj eY; 200 #-
lerk v 1) yiH'k dh nj 20%
dj d cin yit (dj @ 25%) 8,00,000

mi;0r Bpukvk 1 x.uk dift, %
G vk afr lerk V'

(i) 1tdj.k wvuikr

(ii)) eY; wvtu wvuikr

(iv) vnk;xh wvuikr

(v) lerk vk 1) yiHKt mRiknu
(vi) 1fr/kfjr vtu wvuikr

(vii) YK Hixriu wvuikr A
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5. From the following data of a company you are required

to prepare fund flow statement :
Balance Sheets (as on 31st March)
Particulars 2018 2019
Rs. Rs.
I. Equity and Liabilities :
Shareholder's funds :

Share Capital 2,40,000 3,60,000
Securities Premium Reserve 24,000 36,000
General Reserve 18,000 27,000

Statement of Profit & Loss-Surplus 58,500 62,400
Non-current Liabilities :
Debentures — 78,000

Current Liabilities :

Provision for taxation 29,400 32,700
Trade Payable 1,00,000 1,08,000
Tax Payable 500 1,200

4,74,000 7,05,300

II. Assets :

Non-current assets :

Land and Building 1,66,200 3,39,600
Machinery 1,06,800 1,53,900
Furniture 7,200 4,500
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Current Assets :

Inventories 66,300 78,000
Trade Receivables 1,09,500 1,17,300
Cash and Cash equivalents 14,000 12,000

4,70,400 7,05,300

Additional Information :

Depreciation written off on machinery Rs. 38,400 and
and furniture Rs. 1,200 during the year 2018-19. 15
,d dEiuh d futufyf[ir vidMk 1 wviidk di iolg fooj.k
r;kj djuk g %

ViEFkd  fpVBk (31 ekp)
fooj .k 2018 2019

I. lerk rFk nkf;Ro 4%
vik/igd d dkk ¥

VE oIt 2,40,000 3,60,000
iIR;Hfr ibfe;e Ip; 24,000 36,000
liell; 1Ip; 18,000 27,000
yiH&gifu dk fooj.k—wif/D; 58,500 62,400
Xj&pky nkf;Ro 4

Ya ki — 78,000
pky nkf;Ro %

dji/lu d fy, ilo/ku 29,400 32,700
0;kikjd  n; 1,00,000 1,08,000
n;dj 500 1,200

4,70,000 7,05,300
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1 BERfU;k
xj&pky  BERfUK;K

Hfe ,o0 Hou 1,66,200 3,39,600
e"lhujh 1,06,800 1,53,900
iQuipj 7200 4,500
pky DEiflk;k ¥

ely 66,300 78,000
0;kikfjd  1kl; 1,09,500 1,17,300
udn rFk udn lery; 14,000 12,000

4,70,400 7,05,300

lek;ktu HBpuk, %
o'k 2018-19 d nkju e'lugh 1§ wvifyf[kr Rkl
38,400 # rAk Quhpj 1j 1,200 # g A

6. What is Cash Flow Statement ? How does it differ from
Fund Flow Statement ? What are the uses of this
statement ? 15
udn iolg fooj.k D;k g \ ;g 10.M 1oig fooj.k 1 dlI
fillu g \ bl fooj.k d D;k 15kx g \

7. The statement of marginal profit of XYZ Ltd. runs as
under :

Rs.

Sales (16000 Units) 3,20,000
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Variable costs (Rs. 15 per unit) 2,40,000

Contribution 80,000
Fixed Cost 60,000
Profit 20,000

Calculate profit-volume ratio and then on the basis of

P/V ratio, determine :

(i) Sale for 40% P/V Ratio

(i) Break even point in rupees.

(iii) Contribution when sale amount to Rs. 2,56,000
(iv) Margin of safety when profit is Rs. 4,000.

(v)  Variable costs when sale amount to Rs. 2,56,000.

(vi) Percentage of Profit on the basis of percentage of
margin of safety when sale amount of Rs. 3,20,000.

(vii) If the selling price per unit is reduced to Rs. 16, the

new sale volume to set-off this price reduction.

(viii) Sale to earn profit and Rs. 40,000. 15
XYz fy- d lhellr yik dk fooj.k futu idkj h
#-

fod; (1600 bdkb;k) 3,20,000
ifjoru'ly yixr (15 # ifr bdib) 2,40,000
Vv *knku 80,000

fLFj  yixr 60,000
yiHk 20,000
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yiHi&eltk vuikr dh x.fuk dift, rRk rc yid&wvuiir d

wviZij 1) fu/kfjr dift, ¥

(i)  40% YiHé&eklk wuikr d fy, fc@h

(i) De&foPNn fcln #i;k e

(iii) V'inku tc 2,56,000 # dn fc@h gk A

Gv) Dj{lk lhek tc 4,000 # dk yiHk gk A

(v) 1fjoru'ly yixr tc 2,56,000 # dhn fc@h gk A

(vi) Lj{lk Ihek d ifr'ir d wiZlj i) yiHe dkoifrir
tc 3,220,000 # dh fc@h ok A

(vii)y ;fn fc@h eY; ifr bdib 16 # Ak fnjk t; rk
bl eY; e del di vifyf[ir dju d fy, u;h
fcah ekl A

(viii) 40,000 # dt yiH delu d fy, fcdh A

8. A factory is currently working to 50 per cent capacity and
produces 10,000 units. Estimate the profits of the company
when it works at 60 per cent and 80 per cent capacity.
At 60% working raw material cost increases by 2 per

cent and selling price falls by 2 per cent.

At 80% working raw material cost increases by 5 per

cent and selling price falls by 5 per cent.
At 50% capacity working. the product cost is Rs. 180 per

unit and is sold at Rs. 200 per unit.
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The unit cost of Rs. 180 per unit is made up as follow :

Raw material Rs. 100
Labour Rs. 30
Factory overheads Rs. 30 (40% fixed)
Administrative overheads Rs. 20 (50% fixed)

,d 10DVjh orelu e 50 ifrkr {kert ij dk;jr 10]000
bdib;k dk miiknu djrt g A tc ;g 60 ifrtir wij
80 ifr'kr {lerk 1j dk; djrh g rk dEiuh d yiHk dk
vidyu dift, A

60% di;{lert ij dPp ely di yixr 2 ifr'tr c<dj
virt g rrk fod; eY; 2 ifr'ir 7ka] virk g A
80% di;{terk ij dPp ety dhi yixr 5 ifr’

virt g rrk fod; eY; 5 ifr'ir Avdj wirk g A

50% dk;{erk 1j mhiknu yixr 180 # 1ifr bdk wirh
g rik 200 # 1ifr bdib fcdrh g A

180 # ifr bdib di bdib yixr bl idkj g %

dPpk ely 100 #
Je 30 #
10Vjh mifj0; ; 30 # (40% fLH))
1"klfud  mifj0; ; 20 # (50% fLFk))

9. What do you understand by the term “Management
Reporting” ? Explain the essentials of an ideal report to

management. 15
icl/ fjivx I wvii D;k le>r g \ icl/ d fy, wvin'k
fjilv d wvio*;d rlok dk o.lu dift, A
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